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Puzzle test for IBPS PO Pre, IBPS SO Pre, IBPS 
Clerk, SBI PO Pre and SBI Clerk 
 
PUZZLE TEST QUIZ 79 
 
Directions: Study the following information carefully and answer the questions 
given below: 
 
Seven persons – Ankur, Vinod, Manoj, Dharam, Neeraj, Sudesh and Rajiv, live in 

different cities – Raichur, Rajkot, Raipur, Raniganj, Rampur, Ranchi and Ratlam 

not necessarily in the same order. They also own cars of different companies – 

Bugatti, Brooke, Buick, Bentley, BMW, Bolwell and Bristol, not necessarily in the 

same order. 

 
Vinod owns Buick and does not live in Raniganj. 

One who lives in Raichur owns BMW. 

Sudesh lives in either Rajkot or Raichur. 

Manoj and Ankur lives in Raipur and Ratlam respectively. 

Dharam and Neeraj do not live in Raniganj or Rampur. 

The one who lives in Rajkot owns either Bolwell or Bristol. 

One who lives in Ranchi owns Brooke. 

Ankur and Rajiv do not own Bentley. 

One who lives in Raniganj owns either Bentley or Bristol. 

Neeraj owns either BMW or Bentley. 

  



 

 

 1. Which of the following cars is owned by Manoj? 
A. BMW   B. Bentley   C. Bugatti 
D. Bristol   E. None of these 
 

 2. The one who lives in Rampur owns which of the following cars? 
A. Buick   B. Bentley   C. Bugatti 
D. BMW   E. None of these 
 

 3. The one who owns Bristol lives in which of the following cities? 
A. Ratlam   B. Raipur   C. Raniganj 
D. Rajkot   E. None of these 
 

 4. Which of the following combinations is correct? 
A. Manoj – Raipur – BMW 
B. Vinod – Ranchi – Brooke 
C. Rajiv – Raniganj – Bristol 
D. Ankur – Ratlam – Buick 
E. None of these 
 

 5. Find the odd one out. 
A. Ankur - Bugatti  B. Rajiv – Bristol  C. Manoj - Bolwell 
D. Neeraj – BMW  E. Vinod – Buick 
  



 

 

Correct answers: 

1 2 3 4 5 

B A C C C 

 

Common Explanation: 
 
Reference: 
  
Seven persons – Ankur, Vinod, Manoj, Dharam, Neeraj, Sudesh and Rajiv, live in 
different cities – Raichur, Rajkot, Raipur, Raniganj, Rampur, Ranchi and Ratlam 
not necessarily in the same order. They also owns cars of different companies – 
Bugatti, Brooke, Buick, Bentley, BMW, Bolwell and Bristol, not necessarily in the 
same order. 
  
Inference: 
  
We will keep this information in mind while solving the puzzle. 
  
Reference: 
  
Manoj and Ankur lives in Raipur and Ratlam respectively. 
Vinod owns Buick and does not live in Raniganj. 
Dharam and Neeraj do not live in Raniganj or Rampur. 
  
Inference: 
  
After using the above hints, we have: 
  

Person Place Car Hints 

Ankur Ratlam 
  

Vinod 
 

Buick Raniganj – × 

Manoj Raipur 
  

Dharam 
  

Raniganj/Rampur – × 

Neeraj 
  

Raniganj/Rampur – × 

Sudesh 
   

Rajiv 
   

 
Reference: 
 



 

 

Ankur and Rajiv do not own Bentley. 
 
Sudesh lives in either Rajkot or Raichur. 
 
One who lives in Raniganj owns either Bentley or Bristol. 
  
Inference: 
 
After using the above hints, we have: 
 

Person Place Car Hints 

Ankur Ratlam 
 

Bentley – × 

Vinod 
 

Buick Raniganj – × 

Manoj Raipur 
  

Dharam 
  

Rampur – × 

Neeraj 
  

Rampur – × 

Sudesh 
  

Rajkot/Raichur – ✓ 

Rajiv Raniganj Bristol Bentley – × 

  
At this point, we can say that Vinod lives in Rampur. 
  

Person Place Car Hints 

Ankur Ratlam 
 

Bentley – × 

Vinod Rampur Buick 
 

Manoj Raipur 
  

Dharam 
   

Neeraj 
   

Sudesh 
  

Rajkot/Raichur – ✓ 

Rajiv Raniganj Bristol 
 

  
Reference: 
 
The one who lives in Rajkot owns either Bolwell or Bristol. 
One who lives in Ranchi owns Brooke. 
One who lives in Raichur owns BMW. 
Inference: 
 
Here, we can say that the one who lives in Rajkot owns Bolwell as the Bristol is 
owned by the one who lives in Raniganj. 



 

 

After using the above hints, we have: 
  

City Person 

Rajkot Bolwell 

Ranchi Brooke 

Raichur BMW 

  
Reference: 
 
Neeraj owns either BMW or Bentley. 
 
Inference: 
 
After using the above hints, we have: 
  

Person Place Car Hints 

Ankur Ratlam 
 

Bentley – × 

Vinod Rampur Buick 
 

Manoj Raipur 
  

Dharam 
   

Neeraj 
  

BMW/Bentley – ✓ 

Sudesh 
  

Rajkot/Raichur – ✓ 

Rajiv Raniganj Bristol 
 

  
Also, we know that: 
  

City Person 

Rajkot Bolwell 

Ranchi Brooke 

Raichur BMW 

 
At this point there are two possible scenarios in which the above hints can be 
used accordingly. 
 
Possibility 1: 
 
Neeraj drives Bentley. 
  
 



 

 

Person Place Car Hints 

Ankur Ratlam 
  

Vinod Rampur Buick 
 

Manoj Raipur 
  

Dharam 
   

Neeraj 
 

Bentley 
 

Sudesh 
  

Rajkot/Raichur – ✓ 

Rajiv Raniganj Bristol 
 

  
Here, we can’t use the information we find out before so we can say that this 
possibility is invalid. 
 
Possibility 2: 
 
Neeraj drives BMW. 
  

Person Place Car Hints 

Ankur Ratlam 
 

Bentley – × 

Vinod Rampur Buick 
 

Manoj Raipur 
  

Dharam 
   

Neeraj 
 

BMW 
 

Sudesh 
  

Rajkot/Raichur – ✓ 

Rajiv Raniganj Bristol 
 

  
Then, 
 

Person Place Car Hints 

Ankur Ratlam 
 

Bentley – × 

Vinod Rampur Buick 
 

Manoj Raipur 
  

Dharam Ranchi Brooke 
 

Neeraj Raichur BMW 
 

Sudesh Rajkot Bolwell 
 

Rajiv Raniganj Bristol 
 

  
 
At this point we can say that Manoj drives Bentley and Ankur owns Bugatti. 
  



 

 

Person Place Car 

Ankur Ratlam Bugatti 

Vinod Rampur Buick 

Manoj Raipur Bentley 

Dharam Ranchi Brooke 

Neeraj Raichur BMW 

Sudesh Rajkot Bolwell 

Rajiv Raniganj Bristol 

 

Explanations: 
 

 Following the final solution, we can say that Bentley is owned by Manoj. 1.
 
Hence, the correct answer is option B. 

 
 Following the final solution, we can say that the one who lives in Rampur 2.

owns Buick. 
 
Hence, the correct answer is option A. 
 

 Following the final solution, we can say that the one who owns Bristol lives 3.
in Raniganj. 
 
Hence, the correct answer is option C. 

 
 Following the final solution, we can say that Rajiv – Raniganj – Bristol is the 4.

correct combination. 
 
Hence, the correct answer is option C. 

 
 It is clearly shown in the table that Manoj owns Bentley car. 5.

 
Hence, option C is correct. 
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